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Example. Simplify 2x - 4 - 5x.
Notice, this expression contains only multiplications (because 2x and 5x are also multiplications).

Since we can multiply in any order, we can write this expressionas2 -4 -5 - x - x.

Now we multiply 2, 4, and 5 to get 40. What is left to do? The part x - x, which is written as x2.
So,2x - 4+ 5x = 40x2.

Note: The equals sign used in 2x - 4 - 5x = 40x2 signifies that the two expressions are equal no
matter what value x has. That equals sign does not signify an equation that needs to be solved.

Similarly, we can simplify the expression x + x and write 2x instead. That whole process is usually
written as x +x = 2x.

Again, the equals sign there does not indicate an equation to solve, but just the fact that the two
expressions are equal. In fact, if you think of it as an equation, any number x satisfies it! (Try it!)

1. Simplify the expressions.

a. pt+t8+p+tp

fy-2y-3:-2y-y

perimeter = perimeter =

d.

area = area =

perimeter = perimeter =





[image: image2.png]. Find the value of the expressions 3p and p + 3 for different values of p.
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). Now, look at the table. Can you tell which is larger, 3p or p + 3?





4.  Fill in the table:
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[image: image4.png]The two terms in the expression 2x2 + 5x2 are like terms: they have the same variable part (xz). Because of that,
we can add the two terms to simplify the expression. To do that, simply add the coefficients 2 and 5 and use the

same variable part: 2x2 + 5x2 = 7x2. It is like adding 2 apples and 5 apples.

However, you cannot add (or simplify) 2x + 7y. That would be like adding 2 apples and 7 oranges.

Example. Simplify 6x —x — 2x + 9x. The terms are like terms, so we simply add or subtract the coefficients:
6—1—2+9=12 and tag the variable part x to it. The expression simplifies to 12x.





Simplify the expression

[image: image5.png]b. p?+8p? +3p” c. 128> -84 - 3d°





Study these formulae.  

Write[image: image6.png]Formulas for Perimeter, Area, and Volume
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5.  Use complete sentences to describe what the formulae are telling:

5a.Perimeter of a Rectangle: 

5b.Area of a Rectangle: 

5c.Perimeter of a Square: 

5d.Area of a square: 

5e.Area of a triangle: 

6.  What do you “do” to find the perimeter of a rectangle?

7.  What do you “do” to find the area of a rectangle?

8.  What do you “do” to find the area of a triangle?

Write an EXPRESSION for the total area:
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Integers

[image: image8.png]1. Divide.

a.—50 +(-5) = b.(-8)+(-1)= c. 81+(-9)=

-12+2= 14+(-2)= -100 + (-10) =





2.

[image: image9.png]Here’s a funny riddle. Solve the math problems to uncover the answer.

E __ (8 =2 N-12:(-5)=____ E (-l44)+12=_
E 3 (-12)=___ H__ +12=-5 T 4 (-9=___

N -15+___=-5 E__ (-6=0 V 45+ =5
G -1 (-9=___ [-27+9=__ -7 =84

S —48+6=__ N3 =24

Why is six afraid of seven? Because....

-8 -2 -9 -8 -16




Simplify and show your work.
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[image: image11.png]3. Solve. Check your solutions.

4. Solve. Simplify the one side first.

= —4+3+(-2)
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